ENEn : AENFNNERFEENRNEERENEEN Zawartos¢ opakowania/Package contents:

u ® ( - A
u ﬁ ﬁ ? Uchwyt TV oraz: . TV bracket and: |
D P I l l : l ' M A) Sruba M4x20 x4 A) M4x20 x4 screw
mm M4X20MM  MBX20MM  M8X25MM B) Sruba M6x20 x4 B) Screw M6x20 x4
(4PGS) (aPcs) (4PCs)  (4PCS) C) Sruba M8x25 x4 C) Bolt M8x25 x4

D) Sruba samogwintujaca Mé x4 D} Self-tapping screw Mé x4

E) Kotwa plastikowa Mé x4 E) Plastic anchor Mé x4
1] 11 / © & © F) Podkiadka M6 x8 F) Washer M6 x8
- - Waterpas level F2) Poziomica F2) Level

(4PCS)  F1(8PCS)  F2(1PCS) G(4PCS)J G) Tuleja x4 G) Sleeve x4

Instrukcja montazu uchwytu $ciennego do telewizoréw o przekatnej ekranu 23";55" i maksymalnym obcigzeniu 45kg:

1. Uzyj ptytky sciennej uchwytu jako szablonu do wywiercenia czterech otwordw w Scianie betonowej lub cianie z twardego drewna. Nastepnie zamocyj plastikowe kotki do
betonu w otworach. Zainstaluj poziomice na uchwycie. Umie$¢ panel $cienny na $cianie i wkrec wkrety do drewna w plastikowe kotki, uzywajac metalowych podkiadek.

2. Zainstalyj listwy motazowe z tytu telewizora. Wkrec cztery sruby w otwory z tytu telewizora, a $ruby powinny by¢-dobrane zgodnie z rozmiarem otworu na érube.

3. Jezeli budowa telewizora tego wymaga, powtdrz pkt 2. doktadaja¢ podkiadki dustansujace pod panele uchwiytu.

4. Popro$ o pomac druga osobe jezeli telewizor jest wieszy niz 43". Zawie$ TV na uchwycie-Zabezpiecz uchwyt érubami blokujacymi. Wyreguluj kat telewizora wedtug preferencji
i dokrec $ruby blokujace. ’ )

Installation instructions for a wall mount for TVs with a screen diagonal of 13“-50" and a maximum load of 45kg:

1. Use the bracket wall plate as a template to drill four holes in a concrete wall or hardwood wall. Then fasten the plastic concrete dowels in the holes. Install a level on the bracket.
Place the wall panel on the wall and screw the wood screws into the plastic dowels, using metal washers.

2. Install the mottle strips on the back of the TV. Screw the four screws into the holes on the back of the TV, and the screws should be sized according to the size of the screw hole.

3. If the construction of the TV requires it, repeat point 2. by adding dusting washers under the bracket panels.

4, Ask another person for help if the TV is larger than 43”. Hang the TV on the mount. Secure the mount with locking screws. Adjust the angle of the TV to your preference and tighten
the locking screws. ' i

o 50mm

o

= co = s> 006000000 0|

= locking

PRODUCENT/PRODUCER/HERSTELLER:

AX TECHNOLOGY Sp. z 0.0. Sp.k.
ul. Stoneczny Sad 4H
72-002 Doluje

. email: kontakt@axtechnology.eu
TECHNOLOGY Tel.: +48 918173114

Thark you, Dunkte, Deickjory [ QPTICUM *

o E ek




